; . P 2 ¢ of
t < <7 ¢
A 7) 2 ’) l /i\i w7
A5 2 ¢ 4 { &

A /Y(ﬂ,@), 64577(7 = [o°

3z e T z r o
2) p=( 8 -1 4 Q= /—J‘ ¢
z ! z / 2_> O [
s e b 2 ¢ 31 [ (2 17
12 - g = q){~( / 1)5 33 2 q 2
Qr 1 T 3 o { 3 1 4
J Alag)= 124314 10= 37

——
e ~— - -~

—_—

I N MR VAT L D

K bax
so (A= (BY = ) 2 L)<y :2/( A% o w ewen
_ﬁK ",C [ on

Lo AV‘ 'S Sym it W evea A

she w spo o F sl

—_—— .. — e _—

t
0 cenirAs (M*/t=(/}*/ A= ArY o qpt o,

s (,9%)6 - /}"‘(Aﬁe—- A4

So /4"{-'4“ L i IS



€D cense (48) (A = A4 2T n  abse pr(f'n‘)/MF— &4~
ws cheos AB 3 jaorhlle s by A e g w g AT

= _—

é) hewv AA‘(-—I,\ S0 s (.411” é; Inb D ('4-')(7/4.b= TA

= wlse ﬁ'(/(. =T. (- v A (/4."/4)6.7 I,,b =) /"'t-(/’-l t_— T~

> AT okl d G A ae a9 /’"yt



5.)

( =2 2 ( & = [ 2 3 ! ®
- ~&
61:7.)’//(/ [/4 /I_,}: [ / - o /! © g)? ¢ © 2 e
{ 1 < 1o Bt / / [ (=] =G
2 [4]
iRL o / , 2 -T Ay =3%2 b=y =3 ¢
] o = < -
~—>[ @ - o e Y R
{1 o o o [ I 1 o c y
~ = -
1 ~Ra e ! ‘é; z r 23 0
e & p ' Ry- R, / £ £
= oy -7 4 =1 -
> 1 ' o 2 z ) A el
(24 12} I ! v 9 ~] S &
=1 z
Ko
ﬂr(_’{’ SRS o 3’? z -/ 2 38
R o 7 O -3 o = =
?._4 ( 2z 2z N ) —f__ f -3 )
0 v ? ( > e = - — -
z T o AL -/
2 r,_
o — - ~_ — —_— -~ = W— —— =
, 4 .
7) let A4 4= C H/ C-,(e‘)'l N ,4-—(1.'_,') A ATz fan
& 2 5
oy Zabag s Laqag e )= L
“K=l “=t =
o~ 1 £ & 2 2
— S N = 7 o
s #[A*A): > 2 acag = 2 2 4l e 2
€zl K=l =roest
~ M 2
Lo ﬁ Z Z““(‘ 5@ => #{A."'f) 3 O‘
1wz

=
=/



